
Form No.   101314

PR2100J
PR2100J-50-220
PR3100J
PR3100J-50-380

Parts List for:

1
2

3

3 4

5

6 7
8

9

10

11
12

13
14

15

16

1718

19
20

MODEL C
UNIVERSAL RAILROAD AXLE BEARING PULLER

Sheet No. 1 of 3

Rev. Date: 20 May 1995
© Hydraulic Technologies

Tech. Services: (800) 477-8326
Fax: (800) 765-8326

Order Entry: (800) 541-1418
Fax: (800) 288-7031

Hydraulic Technologies
5885 11th Street
Rockford, IL 61109-3699 USA

Internet Address: 
http://www.powerteam.com



*1 50061 1 Cylinder Assembly (100 Ton, Double-acting  -
See sheet 2 of 3)

2 309221 2 Trade Name Decal
3 36891 2 Hose Assembly

*4 40116 1 Cylinder Mounting Plate
5 10224 4 Hex Nut (1-1/4-12 UNF; Torque to 200 ft. lbs.)

6 24767 4 Spacer
7 20001 1 Coupling Pin
8 30405 4 Leg and Collar (Torque to 200 ft. lbs.)

9 30523 1 Pulling Shoe with Screws
10 420372WH2 2 Installing Tube Cradle
11 10204 4 Hex Nut (3/8-16 UNC)

12 21498 4 Special Hex Hd. Cap Screw
13 30414 1 Guide Tube Coupler
14 30413 1 Adapter
16 30416 1 Installing Tube
17 21260 1 Adapter Forcing Plug
18 64334 1 Portable Cart Assembly (See Form No. 101318)

19 10076 4 Hex Hd. Cap Screw (1/2-20 UNF x 7/8 Lg.)

20 10249 4 Lockwasher (For 1/2 bolt)

PARTS INCLUDED BUT NOT SHOWN
60719 1 Electric Hydraulic Pump (For PR2100J; 

See Form Nos. 100384 & 102371)
60719-50-220 1 Electric Hydraulic Pump (For PR2100J-50-220; 

See Form Nos. 100384 & 102371)
60685 1 Electric Hydraulic Pump (For PR3100J; 

See Form Nos. 100353 & 102337)
60685-50-380 1 Electric Hydraulic Pump (For PR3100J-50-380; 

See Form Nos. 100353 & 102337)

Item Part No.
No. No. Req'd Description

*1 10673 2 Hex Nipple (3/8 NPTF)

*2 14690 1 Pipe Plug
*3 9623 1 Pressure Regulator Assembly

(Set at 6,000 PSI - 
See Form No. 100412)

*4 10666 2 90° Elbow
*5 11060 1 Shut-off Valve
*7 10648 1 Adapter Union (45° Elbow)

*8 10623 2 Service Tee
*9 10474 1 90° Elbow

*10 10469 1 Adapter Union (Straight)

*11 80590 1.67 ft. Oil Line
*12 10470 1 Adapter Union (90° Elbow)

Item Part No.
No. No. Req'd Description

Note: Shaded areas reflect last revision(s) made to this form.

Parts List,  Form No. 101314,  Back sheet 1 of 3

OIL LINE HOOKUP

Note:  #51151 cylinder assembly includes all parts on this page that are marked with an asterisk (*).



Parts List Form No. 101314

DOUBLE-ACTING CYLINDER ASSEMBLY
Max. Capacity:  103.15 Tons at 10,000 PSI (Push)

67.8 Tons at 10,000 PSI (Pull)

Sheet No. 2 of 3

Rev. Date: 20 May 1995



1 *10907 1 Wiper Ring
2 10885 6 Soc. Hd. Cap Screw (3/8-16 x 1-1/4 Lg.)

3 30621 1 Packing Support Plate
4 40168 1 Cylinder End Cap
5 21408 1 Female Adapter
6 *10338 2 V-packing
7 *10523 1 V-packing
8 30679 1 Piston Rod & Head Assembly
9 30622-15-1/2 1 Cylinder

10 10506 12 Soc. Hd. Cap Screw (5/16-18 x 7/8 Lg.)

11 21407 2 Packing Support Plate
12 *10888 2 Male Adapter
13 *10339 4 V-packing
14 *12596 2 V-packing
15 21410 2 Female Adapter
16 *10886 2 O-ring (5-1/8 X 4-7/8 X 1/8, -249)

17 *19174 2 Teflon Backup Washer (-249)

18 50055 1 Cylinder Base Cap
19 21406 1 Male Adapter
20 10359 6 Compression Spring (15/64 O.D. X 11/32 Lg.)

21 21497 4 Tie Rod
22 11024 2 Compression Spring (1/4 O.D. X 5/8 Lg.)

23 10375 2 Steel Ball (1/4 Dia.)

24 21411 4 Special Tie Rod Nut

PART INCLUDED BUT NOT SHOWN
37782 1 Warning Decal

Part numbers marked with an asterisk (*) are contained in Repair Kit No. 300206.

Item Part No.
No. No. Req'd Description

Refer to any operating instructions included with this product for detailed information about operation,
testing, disassembly, reassembly, and preventive maintenance.

Items found in this parts list have been carefully tested and selected. Therefore: Use only genuine
Power Team replacement parts!

Additional questions can be directed to our Technical Services Department.

Parts List,  Form No. 101314,  Back sheet 2 of 3



Parts List Form No. 101314

TOOLING ORDER INFORMATION

IMPORTANT: This tooling chart applies only to standard AAR configurations for freight car applications. In
order to provide adapters needed to service housing-type locomotive and passenger car bearings, Power
Team must be provided with the following information: bearing manufacturer's name and general
arrangement drawing number; size of bearing to be serviced; railroad name and location; part numbers of
adapters which are already in your possession if you presently own a Puller-Installer.

CLASS AND SIZE OF BEARING ASSEMBLY TO BE SERVICED

*NOTE: Adapters listed above are for servicing the following roller bearing assemblies: Brenco "Crown-Taper",
New Departure-Hyatt "Hy-Roll Taper", SKF "Expediter" and Timken "AP."

**Screws are supplied with the guide tube and should be ordered as replacements only!

Sheet No. 3 of 3

Rev. Date: 20 May 1995



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


